il
W
St
%
I

1. TE4
TH4 R 6 [EEXEHE JIFHXEET (202 3) 1%
THH4 REA IR )\ AR HTHCARET 1 45k Hh 2
2. THEHNE
1)  HEI4 IR LT RS eR—3
2) £ I & ERKG R T
3) T i 243 A [ H AFn 64E 84 1H
= SFn A 3H31LH
4) TEyE

E 2@ UM )R




it
W
=
=
I

TS | R6EEKEEIR

JIg X BERE T (F» 2 3) T.%

TSy « TfE - FER B {7 ¥ & & # A bl A iR
JERRH R X 1 150, 244, 597
EHET = 1 2,215,973
HRHEI T = 1 149, 853 | #iH! 410 m3
L A7 iy b PR PEEME 5, 000m3AH ;
A 3 m3
a7 iyb BEEM 1, 000m3AH ;
BEARRE AT = 1 2,066, 120 | B&MA (BELE) %+ 300 m3
2. 5mAT ;
EuNE R 400 m3
2. 5mPL 4. OmARTi ;
IR = 1 22,712, 760
T/h-T 2 1 22,712,760 | 7vh-TLA Bk (7/0-) 1 X
HIFL (778-) 196 m
Mt 90mm (VFE 1) ;
HIFL (778-) 251 m
Mg 90mm () ;
HIFL (778-) 24 m
Mgt 1156mm (VB 1) ;
HIFL (778-) 49 m
Bi#t 116mm  (BiE) ;
TUR—GRRA N L - RHST - 45N - BETR - E A - SHERALER (7/h-) 51 %N
VANUINEUN 7 m3
K=V v ek 1 =
&Y (T/-) 1 =K
PRE T = 1 95, 046, 330
EELT = 1 4,251,379 |KR#IED (FEHI) 1 =X
+4)
RIE O (HRHED) 1 =X
o
SRR D 1 =

TAZIEE LN )R




it
W
S
=
I

TS | R6EEKEEIR

JIg X BERE T (F» 2 3) T.%

LKy - LA - FER

W7 % B

ﬂlj“

+H
HWERL
IR Lav))—h

18-8-40 (& JF) W/CHHEMEL ;

AT E

T CEL- EAIR Y BET)

ey Uy

e

W

GipfTHL L

19, 644, 400

ETFI AL
BiEE 424mm HikE GREHR)
ETFI AL
BiEE 424mm Bk GREHR)
ETFI AL
BiEE 424mm Bk GrEHR)
ETFI AL
Mt 424mm iR GXFHE)
ETFI AL
BiEg 424mm ik GREHE)
Hi6mis) ;
ETFI AL
BiEg 424mm ik GREHE)
Hi6mis) ;
ETFI AL
BiEg 424mm ik GREHE)
SAHI6mER) ;
ETFI AL
BiEE 424mm ik GREHE)
SAHI6mER) ;
ETFI AL
BiEE 424mm ik GREHE)
SAHI6mER) ;
ETFI AL
HiEE 424mm ik GREHE)
Hi6mis) ;
ST EIAL

7.5m ;
8m ;
9m ;
10m ;

11m (300X 300, 88

12m (300 X 300, 88

13. 5m (300 X 300,

14. 5m (300 X 300,

17. 5m (300 X 300,

18m (300 X 300, 88

SO R S o>

12 N

TAZIEE LN )R




PR AR E

T
Psi

THE4 | ROEEXEEIR JIFHIXHET (202 3) TH

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

B 424mm fik GREHR) 19m (300 X 300, 84
HemE#) ;

RO B 1 71,150,551 | ¥ Lav))-} 52 m2
18-8-40 (FJF) W/CHEEML BW/E10cm ;

BUS T EeRfEa ) -} 52 m
24-8-25(20) (B lF) ;

T DHRE 472 m2

BT R tay ) -} 21 m3
24-12-25(20) (G&JF) ;

o>

HEE T =Y 1 384, 827

A7 70 b T eV 1 384,827 | FIB M (FH « BXJHHD) 143 m2
BAITyve7/ RC-40 A 250 B 150m ;

g (I - BIF ) 143 m2
FAERLET AT (20) SH%EE 50mm 1. 40800 3.0
nlA T

X R T = 1 17, 664

X R T = 1 17,664 | ¥a Rl =GR R 53 m
WA FE) R 15em JEL Smm PEAKMEEHIEHE

R [ b T =Y 1 1,982, 946

FR[E 67 ny) T 2 1 1,982,946 | {HEARRE D7 ny ) RifE 42 1l
SR 7T ey MR (SEEE) 2t

HRE D7 vy s HEft 42 &
HERG7 gy 7 ey )RR (RE®) 2t 7 nylBEA
40 .

VAR 807y ) e 42 1l
2.5tLATF FEiAA-HEAT T 8RR 58 7. 5kmlA T

S RSLER T = 1 962, 250

-3 - Etzzm@E SN R




il
W
>
%
I

THE4 | ROEEXEEIR JIFHIXHET (202 3) TH

TEHEX Sy - THE - R B {7 ¥ = & # il pall A iR
I AALVERESE T X 1 962,250 |ISAafEd 1 X
HEE L = 1 4,328,499
SR L = 1 85, 113 | B (0 =1 v-1) 1 A
HEYHE L T = 1 2,384,978 |av))-MEW BUE L 287 m3
MRS BhkE T
ERZE R LD 1 X
TAT7MEZERR 15emELl T
EhAE AR AR 110 m2
TAT 7 MHEERR SHEERRE 15cm
TR AL T = 1 1, 858, 408 | F E 16 m3
TAT 7V
o 1 287 m3
av ) -bik (BER5)
LGy 16 m3
TAT 7V
By 287 m3
av ) -bik (BERR)
Gy 0.9 t
ALT-H3 ;
% T = 1 22,593, 348
AN T X 1 544,310 | (XM (HiZs - FRXE) 53 m
THEHER T = 1 1,875,349 | T HEKK L 1 =X
(F&1E)
THEHERE L 1 =X
()
BRDF 1 =
(F&E)
RC-40 ¥J& 100mm ;
HRbF 1 =

-4 - Etzzm@E SN R




il
W
St
%
I

TS | R6EEKEEIR

JIg X BERE T (F» 2 3) T.%

THX 4y - LfE - flRl & A iR
()
RC-40 ¥JE 100mm ;
+o 5 1 X
(KE+D | i)
¢ 110 GLAY) X 110em EHIM (148) %610 ;
+o 5 1 X
(KE+D | k)
¢ 110 GLAY) X 110em EHIM (148) %610 ;
WEEEA 1 =X
GRE)
2t F (RHAMERERY) BEAMS ;
WEEEA 1 =X
()
2t (BHAERERD BEAM
EEWRAT T 796, 795 | (K% FHEVIVIR A 365 m2
EEB (484) 250m2LL_E500m2 AT VEEITE TR AN
FEOMIER ;
rAnIHEA L 17,873,894 |k AT (BEHE) 1 X
D19(SD345) ;
HilFL 5 m
TEEHFX ¢90mm 27—} ;
HIJFL 350 m
Z“EEFHKX ¢90mm VIE T ;
HIJFL 37 m
ZEEFA ¢90mm T ;
I ZECIUN 16 N
2.0mLLF
I ZECIUN 26 i
2. 0m#B3. OmLL T
I ZECIUN 26 i
3. OmiEB4. OmLL T ;
I ZECIUN 86 i
4. Om#BS. OmLL T
VANUIRE DN 6 m3
-5 - E A28 SuN 7 A




THE4 | ROEEXEEIR JIFHIXHET (202 3) TH

TEHX4y « Tfd - FER B Az W B & #A i il A R

BRI e 154 N

HIFLEE [ VA Y-ty b 1 =

HIFLBEHR AT - s 1 F2V

AEEHE T = 1 1,503,000 | A2 F5EZHE S 1 =
[ERAE Xy = 1 150, 244, 597
HiE R 2 1 20, 543, 000
BISTIGE: = 1 1, 353, 000
BGRESGESE (5 L) = 1 1, 353, 000
B (FEHL) = 1 19, 190, 000
T = 1 170, 787, 597
Bl gy 2 1 62, 846, 000
T =5l = 1 233, 633, 597
— R A 2 1 35, 746, 403
TS 2 1 269, 380, 000

-6 - E a2 Ui




